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Question 1:

TEST Algebra Number Functions

February 2004

[10 marks]

(a)  Simplify () 24125 - 4/80

®  (3V2- 1)2

1 1
b Show that + is rational.
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(c)  Factorise fully and simplify where possibl x° - 64

.. 2x*=Tx+3
1i) = -
) x*-9
(&  Find 0.027 as a simple fraction W
[ 4 ¥
Question 2: [10 marks]
K
3
(a)  Expand (2a+ b)3 Dy b3 ab™t b
(b) Solve
. x+2 x
i —="7
(1) 3
¥ 1

Gy PRx-3=Bx-17

(i)  4x®+7x*-2x=0

(hint: factorise first)
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- Question 3: . [10 marks]

Find the values of vi}hich satisfy the following inequalities:

- 0 -3(x-5)<3 [2]

- (ii) X2 =7x+12<0 [2]

() 5424 <351 [3]
-2

(iv) 3; - [3]

Question 4: [10 marks]

_ 3
a What is the domain and range of the function f(x)= 2
(a) g F(x) Yy [2]
X3
(b) Is the function f(x)= T3 odd, even or neither? Support your answer. [2]
(c)  Sketch the graph of [r[+ fy|=1 (hint: do it quadrant by quadrant) [3]
(d)  Solve Vi +\Bx+i=3 [3]
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